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1) (9x 98) -(10x 86) 2) Find the mode of the following set of data: 3) 01:42 am To 04:56 am
14,14, 14, 14, 14, 14, 23, 23, 23,
23,23,19,19,41,41,41,41,9,9,
9929299
Answer: Answer: Answer:
4) Find area of square 5) 2/77 of 154 6) Decrease 50 by 26%
having each side (s)
s equals 52 ft
s
Answer: Answer: Answer:
7) Solve by factorising 8) Solve9j2-18-6=0 9) 'What isthe probability of rolling
f2.1f-12=0 Round your solutions to 1 decimal factors of 6.when rolling adice

place.

Answer: Answer: Answer:

10) 187, + 15 11) Solve by factorising 12) A number was shared in theratio
2+25-3=0 6:3. The larger share was 18. What
was the smaller amount?
Answer: Answer: Answer:
13) Convert the following fraction into a 14) Simplify 16:19 15) 197, x 13,
mixed number: 11/,
Answer: Answer: Answer:
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16) 17) 73+ 64 18) 43 x 65
Answer: Answer: Answer:
19) Find perimeter of 20) Find area of
rectangle having b rectangle having
sidesa=87 cm sidesa= 87 ft
andb=86cm a andb=70ft
Answer: Answer:
Total: /20
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1) 384799049
8)j=230r-0.3
15) 123%/,

B 11-PLUS
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Answers:
2)9 3) 03 Hours 14 Mins 4) 2704t 5)4 6) 37 7Nf=4o0r-3
9) %y 10) 319/, 1l)s=1or-3 12)9 13) 3%, 14) 16 : 19
16) m25 17) 137 18) 2795 19) 346cm 20) 6090ft
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